



**SUPERQUADRACITY, BOHR'S INEQUALITY AND DEVIATION FROM A MEAN
VALUE**

S. ABRAMOVICH, J. BARIĆ, AND J. PEČARIĆ

Received 14 December, 2007; accepted 14 September, 2008; published 3 March, 2010.

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF HAIFA, HAIFA, 31905, ISRAEL
abramos@math.haifa.ac.il

FESB, UNIVERSITY OF SPLIT, RUDERA BOŠKOVIĆA, B.B., 21000 SPLIT, CROATIA
jbaric@fesb.hr

FACULTY OF TEXTILE TECHNOLOGY, UNIVERSITY OF ZAGREB, PRILAZ BARUNA FILIPOVIĆA 30, 10000
ZAGREB, CROATIA.
pecaric@hazu.hr

ABSTRACT. Extensions of Bohr's inequality via superquadracity are obtained, where instead of the power $p = 2$ which appears in Bohr's inequality we get similar results when we deal with $p \geq 2$ and with $p \leq 2$. Also, via superquadracity we extend a bound for deviation from a Mean Value.

Key words and phrases: Convex functions, Bohr's Inequality, Superquadracity, Mean Value.

2000 Mathematics Subject Classification. 26D15.

1. INTRODUCTION

Bohr's inequality [8, page 499], states: *for any $z, w \in \mathbb{C}$ and for any $p, q > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$*

$$(1.1) \quad |z + w|^2 \leq p|z|^2 + q|w|^2$$

holds with equality iff $w = (p - 1)z$.

This inequality has many extensions and generalizations, see all the references and their references except [6].

In Section 2 we extend Bohr's theorem for $z, w \in \mathbb{R}^+$ by replacing the power 2 with powers $r \geq 2$ and with powers $1 \leq r \leq 2$.

In Section 3 we extend the following theorem proved in [6]: *For integers $n > 1$, and for $x_i \geq 0, i = 1, \dots, n$ the inequality $\max_{1 \leq k \leq n} \{|x_k - a|\} \leq \sqrt{(n-1)(b-a^2)}$ holds, where $a = \frac{1}{n} \sum_{i=1}^n x_i$ and $b = \frac{1}{n} \sum_{i=1}^n x_i^2$.*

In all the proofs we use the properties of superquadratic functions. Therefore we first quote those definitions and theorems related to superquadracity we use in the sequel:

Definition 1.1. [1, Def2.1] A function f , defined on an interval $I = [0, l]$ or $[0, \infty)$ is superquadratic, if for each x in I , there exists a real number $C(x)$ such that

$$(1.2) \quad f(y) - f(x) \geq C(x)(y - x) + f(|y - x|)$$

for all $y \in I$. If $-f$ is superquadratic then f is called subquadratic.

Theorem 1.1. [1, Th2.3]. *The inequality*

$$(1.3) \quad f\left(\int g d\mu\right) \leq \int \left(f(g(s)) - f\left(\left|g(s) - \int g d\mu\right|\right)\right) d\mu(s)$$

holds for all probability measures μ and all non-negative μ -integrable functions g , if and only if f is superquadratic.

The discrete version that follows from the above theorem is also used in the sequel:

Lemma 1.2. *Suppose that f is superquadratic. Let $x_r \geq 0, 1 \leq r \leq n$ and let $\bar{x} = \sum_{r=1}^n \lambda_r x_r$ where $\lambda_r \geq 0$ and $\sum_{r=1}^n \lambda_r = 1$. Then*

$$\sum_{r=1}^n \lambda_r f(x_r) \geq f(\bar{x}) + \sum_{r=1}^n \lambda_r f(|x_r - \bar{x}|).$$

In particular if $n = 2$ we get from Lemma 1.2 that for $0 \leq \alpha \leq 1, a, b \geq 0$

$$(1.4) \quad \begin{aligned} & \alpha f(a) + (1 - \alpha) f(b) - f(\alpha a + (1 - \alpha) b) \\ & \geq \alpha f((1 - \alpha)|b - a|) + (1 - \alpha) f(\alpha|b - a|). \end{aligned}$$

Lemma 1.3. [1, Lemma 2.2] *Let f be a superquadratic function with $C(x)$ as in Definition 1. Then*

- (i) $f(0) \leq 0$.
- (ii) If $f(0) = f'(0) = 0$ then $C(x) = f'(x)$ wherever f is differentiable at $x > 0$.
- (iii) If $f \geq 0$, then f is convex and $f(0) = f'(0) = 0$.

The functions $f(x) = x^p, x \geq 0$, are superquadratic for $p \geq 2$, and subquadratic for $0 \leq p \leq 2$, [1].

For the special case $f(x) = x^2$ we get equalities in (1.2), (1.3), and (1.4) and in (1.2) $C(x) = 2x = (x^2)'$.

2. BOHR'S TYPE INEQUALITIES AND EXTENTION OF THE PARALLELOGRAM LAW, VIA SUPERQUADRATIC AND SUBQUADRATIC FUNCTIONS

In [5] the following theorems were proved:

Theorem 2.1. [5, Theorem1,Corollary1,Theorem2]: Let H be a complex separable Hilbert space and $B(\mathcal{H})$ the algebra of all bounded linear operators on H . Let $|X| = (X^*X)^{1/2}$ for any $X \in B(\mathcal{H})$. Then for any $A, B \in B(\mathcal{H})$ and any $p, q \in \mathbb{R}$ with $\frac{1}{p} + \frac{1}{q} = 1$.

If $1 < p \leq 2$ the inequalities

$$(i) \quad |A - B|^2 + |(1-p)A - B|^2 \leq p|A|^2 + q|B|^2,$$

and

$$(ii) \quad |A - B|^2 + |A - (1-q)B|^2 \geq p|A|^2 + q|B|^2$$

hold.

Furthermore, in both (i) and (ii), the equality holds iff $p = q = 2$ or $(1-p)A = B$.

If $p \geq 2$

$$(iii) \quad |A - B|^2 + |(1-p)A - B|^2 \geq p|A|^2 + q|B|^2,$$

and

$$(iv) \quad |A - B|^2 + |A - (1-q)B|^2 \leq p|A|^2 + q|B|^2$$

hold.

Furthermore, in both (iii) and (iv), the equality holds iff $(1-p)A = B$.

If $p < 1$

$$(v) \quad |A - B|^2 + |(1-p)A - B|^2 \geq p|A|^2 + q|B|^2,$$

and

$$(vi) \quad |A - B|^2 + |A - (1-q)B|^2 \geq p|A|^2 + q|B|^2$$

hold.

Furthermore, in both (v) and (vi), the equality holds iff $(1-p)A = B$.

When $H = \mathbb{C}$ and $B(\mathcal{H}) = \mathbb{C}$, Theorem 2.1 becomes the following theorem:

Theorem 2.2. [5, Theorem1,Corollary1,Theorem2]: For any $A, B \in \mathbb{C}$ and any $p, q \in \mathbb{R}$ with $\frac{1}{p} + \frac{1}{q} = 1$, we get that (i) to (vi) hold, furthermore,

(vii) if $p > 1$,

$$|A - B|^2 \leq p|A|^2 + q|B|^2,$$

with equality iff $(1-p)A = B$, which is exactly the classical Bohr's inequality.

In the following we extend Theorem 2.1 for $x \in \mathbb{R}^+$ to powers different than $r = 2$.

Theorem 2.3. For any $a, b \in \mathbb{R}^+$ and for any $p, q \in \mathbb{R}$ with $\frac{1}{p} + \frac{1}{q} = 1$

(i) for $r \geq 2$ and $1 < p \leq 2$ ($q \geq 2$) we get the inequality:

$$(2.1) \quad pa^r + qb^r \geq \frac{1}{2^{r-2}} ((p-1)a + b)^r + \frac{1}{2^{r-2}} |b - a|^r$$

and for $q, 1 < q \leq 2, (p \geq 2)$ we get that

$$(2.2) \quad pa^r + qb^r \geq \frac{1}{2^{r-2}} (a + (q-1)b)^r + \frac{1}{2^{r-2}} |b - a|^r$$

equality holds in (2.1) and (2.2) when $r > 2$ if $p = q = 2$ and $a = b$. Moreover, if $r = 2$ equality holds in (2.1) and (2.2) if $p = q = 2$, which is the parallelogram law.

(ii) for $1 \leq r \leq 2$, if $p \geq 2$, ($1 < q \leq 2$), we get that

$$(2.3) \quad pa^r + qb^r \leq \frac{1}{2^{r-2}} ((p-1)a + b)^r + \frac{1}{2^{r-2}} |b-a|^r$$

and analogously if $1 < p \leq 2$, ($q \geq 2$)

$$(2.4) \quad pa^r + qb^r \leq \frac{1}{2^{r-2}} (a + (q-1)b)^r + \frac{1}{2^{r-2}} |b-a|^r.$$

For $p = q = 2$, $1 \leq r \leq 2$ we get that

$$(2.5) \quad (a+b)^r \leq 2^{r-1} (a^r + b^r) \leq (a+b)^r + (b-a)^r$$

which we may consider as an extension of the parallelogram law.

(iii) for $r = 2$ if $1 < p \leq 2$, ($q \geq 2$) we get that

$$((p-1)a + b)^2 + |b-a|^2 \leq pa^2 + qb^2 \leq (a + (q-1)b)^2 + |b-a|^2,$$

and if $2 \leq p$, ($1 < q \leq 2$)

$$(a + (q-1)b)^2 + |b-a|^2 \leq pa^2 + qb^2 \leq ((p-1)a + b)^2 + |b-a|^2.$$

Proof. From (1.4) we get for the superquadratic function $f(x) = x^r$, $r \geq 2$, $0 \leq \alpha \leq 1$, $\beta = 1 - \alpha$ that

$$(2.6) \quad \begin{aligned} \alpha a^r + \beta b^r &\geq (\alpha a + \beta b)^r + (\alpha \beta^r + \beta \alpha^r) |b-a|^r \\ &= (\alpha a + \beta b)^r + \alpha \beta (\beta^{r-1} + \alpha^{r-1}) |b-a|^r. \end{aligned}$$

By the substitution $\frac{1}{\alpha} = q$, $\frac{1}{1-\alpha} = p$ we get for $0 < \alpha < 1$ after some manipulations that (2.6) is equivalent to

$$(2.7) \quad pa^r + qb^r \geq \frac{1}{(p-1)p^{r-2}} ((p-1)a + b)^r + (\alpha^{r-1} + \beta^{r-1}) |b-a|^r.$$

As $r \geq 2$ we get that $\alpha^{r-1} + \beta^{r-1} \geq \frac{1}{2^{r-2}}$ and for $1 \leq p \leq 2$ we get $\frac{1}{(p-1)p^{r-2}} \geq \frac{1}{2^{r-2}}$.

Hence for $r \geq 2$ and $1 < p \leq 2$ ($q \geq 2$) we get the inequality (2.1), and for $1 < q \leq 2$, ($p \geq 2$) we get (2.2). It is obvious that equality holds in (2.1) and (2.2) when $r > 2$ if $p = q = 2$ and $a = b$. It is also clear from (2.6) and (2.7) that if $r = 2$ equality holds in (2.1) and (2.2) if $p = q = 2$ and in this case we get the parallelogram law.

Now, for $1 \leq r \leq 2$, $f(x) = x^r$ is a subquadratic function. Hence we get for $0 < \alpha < 1$, $\beta = (1 - \alpha)$, $a, b \geq 0$, $\alpha = \frac{1}{q}$, $\beta = \frac{1}{p}$

$$(2.8) \quad pa^r + qb^r \leq \frac{1}{(p-1)p^{r-2}} ((p-1)a + b)^r + (\alpha^{r-1} + \beta^{r-1}) |b-a|^r.$$

As $1 \leq r \leq 2$ we get that $\alpha^{r-1} + \beta^{r-1} \leq 2^{2-r}$ and if $p > 2$, $\frac{1}{(p-1)p^{r-2}} < \frac{1}{2^{r-2}}$ and hence if $p \geq 2$, ($1 < q \leq 2$), we get from (2.8) that (2.3) holds and analogously if $1 < p \leq 2$, ($q \geq 2$), $1 \leq r \leq 2$, we get from (2.8) that (2.4) holds. For $p = q = 2$, $1 \leq r \leq 2$ we get that

$$(a+b)^r \leq 2^{r-1} (a^r + b^r) \leq (a+b)^r + (b-a)^r$$

which we may consider as an extension of the parallelogram law. The left hand side of this is Inequality 4 in [10]

In case $r = 2$ we get from (2.1) and (2.4) that for $1 \leq p \leq 2$

$$((p-1)a + b)^2 + |b-a|^2 \leq pa^2 + qb^2 \leq (a + (q-1)b)^2 + |b-a|^2$$

holds and if $2 \leq p$, ($1 < q \leq 2$)

$$(a + (q-1)b)^2 + |b-a|^2 \leq pa^2 + qb^2 \leq ((p-1)a + b)^2 + |b-a|^2.$$

■

Remark 2.1. For $x \geq 0$, Theorem 2.3 generalize Theorem 2.1. Indeed, for $r = 2$ (2.1) is the same as Theorem 2.1(i), and (2.2) is the same as Theorem 2.1(iv), (2.3) is the same as Theorem 2.1(iii) and (2.4) is the same as Theorem 2.1(ii).

P. M. Vasić and J. D. Kečkić [13] generalize (1.1) to the following: For $z_1, z_2, \dots, z_n \in \mathbb{C}$, $w_1, w_2, \dots, w_n > 0$ and $p > 1$, we have

$$(2.9) \quad \left| \sum_{i=1}^n z_i \right|^p \leq \left(\sum_{i=1}^n w_i^{1/(1-p)} \right)^{p-1} \sum_{i=1}^n w_i |z_i|^p.$$

Equality holds iff $w_1 |z_1| = w_2 |z_2| = \dots = w_n |z_n|$ and $z_k \bar{z}_j \geq 0$, $k, j = 1, 2, \dots, n$.

In the following theorem we refine (2.9) when $z_i \geq 0$, $i = 1, \dots, n$ for $p \geq 2$, and get a companion inequality of (2.9) for $1 < p \leq 2$.

Theorem 2.4. Let $x_i \geq 0$ and $w_i > 0$, $i = 1, \dots, n$. Then for $p \geq 2$

$$(2.10) \quad \left(\sum_{i=1}^n x_i \right)^p \leq \left(\sum_{i=1}^n w_i^{1/(1-p)} \right)^{p-1} \sum_{i=1}^n w_i x_i^p - \left(\sum_{i=1}^n w_i^{1/(1-p)} \right)^{-1} \sum_{j=1}^n w_j \left| x_j \sum_{i=1}^n w_i^{1/(1-p)} - \sum_{i=1}^n x_i w_i^{1/(1-p)} \right|.$$

For $0 < p \leq 2$ the inequality is reversed.

Proof. For $p \geq 2$ and $x \geq 0$ $f(x) = x^p$ is superquadratic, therefore from Lemma 1.2 we get that

$$(2.11) \quad \frac{1}{A_n} \sum_{i=1}^n a_i x_i^p \geq \left(\frac{1}{A_n} \sum_{i=1}^n a_i x_i \right)^p + \frac{1}{A_n} \sum_{i=1}^n a_i \left(\left| x_i - \frac{1}{A_n} \sum_{j=1}^n a_j x_j \right| \right)^p,$$

where $a_i > 0$, $x_i \geq 0$, $i = 1, \dots, n$ and $A_n = \sum_{i=1}^n a_i$.

Substituting $x_i \rightarrow \frac{x_i}{a_i}$, $i = 1, \dots, n$, we get from (2.11)

$$(2.12) \quad \frac{1}{A_n} \sum_{i=1}^n a_i^{(1-p)} x_i^p \geq \frac{1}{A_n^p} \left(\sum_{i=1}^n x_i \right)^p + \frac{1}{A_n} \sum_{i=1}^n a_i \left(\left| \frac{x_i}{a_i} - \frac{1}{A_n} \sum_{j=1}^n x_j \right| \right)^p.$$

The substitution $a_i^{(1-p)} = w_i$, $i = 1, \dots, n$ in (2.12) leads to

$$\begin{aligned} & \frac{1}{\sum_{i=1}^n w_i^{1/(1-p)}} \sum_{i=1}^n w_i x_i^p \\ & \geq \frac{1}{\left(\sum_{i=1}^n w_i^{1/(1-p)} \right)^p} \left(\sum_{i=1}^n x_i \right)^p \\ & \quad + \frac{1}{\left(\sum_{i=1}^n w_i^{1/(1-p)} \right)^{p+1}} \sum_{j=1}^n w_j \left| x_j \sum_{i=1}^n w_i^{1/(1-p)} - \sum_{i=1}^n x_i w_i^{1/(1-p)} \right| \end{aligned}$$

which is equivalent to (2.10). This is a refinement of (2.9) for $p \geq 2$ and $x \geq 0$.

When $0 < p \leq 2$ and $x \geq 0$ $f(x) = x^p$ is subquadratic, hence, in this case we get the reverse inequality of (2.10). This can be seen as a companion inequality of (2.9) when $0 < p \leq 2$ and $x \geq 0$. ■

In the following Theorem 2.5 we get a reversal of Bohr's type inequality for superquadratic functions by using the reversal of Jensen's inequality that was established in [2, Theorem 3 and Remark 3], see also [3]:

Let (a_1, \dots, a_n) be a real n -tuple such that

$$(2.13) \quad a_1 > 0, \quad a_i \leq 0, \quad i = 2, \dots, n, \quad A_n = \sum_{i=1}^n a_i > 0.$$

If $x_i \geq 0$, $i = 2, \dots, n$ and $\bar{x} = \frac{1}{A_n} \sum_{i=1}^n a_i x_i \geq 0$, then for a superquadratic function $f : [0, \infty) \rightarrow \mathbb{R}$ the following inequality

$$(2.14) \quad f\left(\frac{1}{A_n} \sum_{i=1}^n a_i x_i\right) \geq \frac{1}{A_n} \sum_{i=1}^n a_i f(x_i) + f(|\bar{x} - x_1|) - \frac{1}{A_n} \sum_{i=2}^n a_i f(|x_i - x_1|)$$

holds. Moreover when f in a nonnegative superquadratic function, the following refinement of the reversal of Jensen's inequality is obtained:

$$(2.15) \quad f\left(\frac{1}{A_n} \sum_{i=1}^n a_i x_i\right) \geq \frac{1}{A_n} \sum_{i=1}^n a_i f(x_i) + f(|\bar{x} - x_1|) - \frac{1}{A_n} \sum_{i=1}^n a_i f(|x_i - x_1|) \geq \frac{1}{A_n} \sum_{i=1}^n a_i f(x_i).$$

To get the reversal of Bohr's inequality we chose $f(x) = x^p$, $x \geq 0$, $p \geq 2$ in (2.15) and we get:

Theorem 2.5. Let $z_1 \geq 0$, $z_i \leq 0$, $w_1 > 0$, $w_i \leq 0$, $i = 2, \dots, n$, $\sum_{i=1}^n z_i > 0$, $\sum_{i=1}^n w_i > 0$, $p \geq 2$, then

$$(2.16) \quad \begin{aligned} & \left(\sum_{i=1}^n z_i\right)^p \\ & \geq \left(\sum_{i=1}^n w_i |w_i|^{\frac{p}{1-p}}\right)^{p-1} \sum_{i=1}^n w_i |z_i|^p \\ & \quad + \left| \left(\left(\sum_{i=1}^n z_i\right) - \frac{\sum_{i=1}^n w_i |w_i|^{\frac{p}{1-p}}}{w_1^{\frac{1}{1-p}}} z_1 \right) \right|^p \\ & \quad - \left(\sum_{i=1}^n w_i |w_i|^{\frac{p}{1-p}}\right)^{p-1} \sum_{i=2}^n w_i \left| z_i - \frac{\sum_{i=1}^n w_i |w_i|^{\frac{p}{1-p}}}{w_1^{\frac{1}{1-p}}} z_1 \right|^p \end{aligned}$$

holds.

Proof. The function $f(x) = x^p$ $p \geq 2$, $x \geq 0$ is a non-negative superquadratic function and therefore, satisfies (2.15). For this function we make the following change of variables

$$(2.17) \quad x_i a_i = z_i, \quad i = 1, \dots, n.$$

For $x_i \geq 0$ and $a_i, i = 1, \dots, n$ which satisfies (2.13), we get that $z_1 \geq 0, z_i \leq 0, i = 2, \dots, n,$
 $\sum_{i=1}^n z_i \geq 0$ and $\left| \frac{z_i}{a_i} \right| = \frac{z_i}{a_i} i = 1, \dots, n.$ Therefore, inserting (2.17) in (2.15) we get

$$(2.18) \quad \begin{aligned} & A_n^{-p} \left(\sum_{i=1}^n z_i \right)^p \\ & \geq A_n^{-1} \sum_{i=1}^n a_i |a_i|^{-p} |z_i|^p + A_n^{-p} \left| \left(\sum_{i=1}^n z_i \right) - \frac{\sum_{i=1}^n a_i z_i}{a_1} \right|^p \\ & \quad - A_n^{-1} \sum_{i=2}^n a_i |a_i|^{-p} \left| z_i - \frac{a_i}{a_1} z_1 \right|^p. \end{aligned}$$

Replacing in (2.17) $a_i |a_i|^{-p} = w_i$ and therefore $a_i = w_i |w_i|^{\frac{p}{1-p}}, i = 1, \dots, n$ we get that (2.16) holds. ■

3. UPPER BOUNDS FOR DEVIATIONS FROM A MEAN VALUE

In [6] A. Cipu proved the following theorem:

Theorem 3.1. *Let $n > 1$ be an integer and x_1, x_2, \dots, x_n be positive real numbers. Denote $a = \frac{1}{n} \sum_{i=1}^n x_i$ and $b = \frac{1}{n} \sum_{i=1}^n x_i^2$, then $\max_{1 \leq k \leq n} \{|x_k - a|\} \leq \sqrt{(n-1)(b-a^2)}.$*

We extend this theorem in the following two theorems:

Theorem 3.2. *Let $n > 1$ be an integer and x_1, x_2, \dots, x_n be positive real numbers. Denote $a = \sum_{i=1}^n \alpha_i x_i$ and $c = \sum_{i=1}^n \alpha_i x_i^p$, where $0 < \alpha_i < 1, i = 1, \dots, n, \sum \alpha_i = 1, p \geq 2,$ then*

$$(3.1) \quad \max_{1 \leq k \leq n} \{|x_k - a|\} \leq T (c - a^p)^{\frac{1}{p}}$$

where

$$T = \frac{(1 - \alpha_0)^{1 - \frac{1}{p}}}{\alpha_0^{\frac{1}{p}} (\alpha_0^{p-1} + (1 - \alpha_0)^{p-1})^{\frac{1}{p}}}, \quad \alpha_0 = \min_{1 \leq k \leq n} (\alpha_k).$$

Remark 3.1. It is easy to see that Theorem 3.1 is a special case of Theorem 3.2 where $p = 2,$
 $\alpha_k = \frac{1}{n}, k = 1, \dots, n.$

Theorem 3.3. *Let f be a positive superquadratic function on $[0, \infty),$ which satisfies $f(AB) \leq f(A)f(B)$ for $A > 0, B > 0.$*

Let x_1, x_2, \dots, x_n be positive real numbers. Denote $a = \sum_{i=1}^n \frac{x_i}{n}$ and $d = \frac{1}{n} \sum_{i=1}^n f(x_i),$ then

$$(3.2) \quad \max_{1 \leq k \leq n} (f(|x_k - a|)) \leq \frac{f(n-1)n}{n-1+f(n-1)} (d - f(a)).$$

Remark 3.2. For $\alpha_i = \frac{1}{n}, i=1, \dots, n$ Theorem 3.2 is a special case of Theorem 3.3.

Proof. (of Theorem 3.2) $f(x) = x^p, p \geq 2$ is superquadratic and symmetric, therefore applying Lemma 1.2

$$(3.3) \quad \sum_{i=1}^n \alpha_k x_i^p - \left(\sum_{i=1}^n \alpha_k x_i \right)^p \geq \sum_{i=1}^n \alpha_k (|x_i - a|)^p$$

holds.

Denote $y_i = x_i - a$, $i = 1, \dots, n$. Then from $\sum_{i=1}^n \alpha_i y_i = 0$ we get from Hölder's inequality

$$\begin{aligned} (\alpha_n |y_n|)^p &= \left(\left| \sum_{i=1}^{n-1} \alpha_i y_i \right| \right)^p \leq \left(\sum_{i=1}^{n-1} \alpha_i |y_i| \right)^p \\ &= \left(\sum_{i=1}^{n-1} \alpha_i^{1-\frac{1}{p}} (\alpha_i |y_i|^p)^{\frac{1}{p}} \right)^p \leq \left(\sum_{i=1}^{n-1} \alpha_i \right)^{p-1} \sum_{i=1}^{n-1} \alpha_i |y_i|^p, \end{aligned}$$

and

$$(\alpha_n |y_n|)^p \leq (1 - \alpha_n)^{p-1} \left(\sum_{i=1}^n \alpha_i |y_i|^p - \alpha_n |y_n|^p \right).$$

Therefore from (3.3)

$$\alpha_n (\alpha_n^{p-1} + (1 - \alpha_n)^{p-1}) |y_n|^p \leq (1 - \alpha_n)^{p-1} (c - a^p)$$

which by taking into consideration that $\frac{(1-\alpha)^{p-1}}{\alpha(\alpha^{p-1}+(1-\alpha)^{p-1})}$ is decreasing for $0 < \alpha < 1$ leads to (3.1). ■

Proof. (of Theorem 3.3) The function f is superquadratic on $[0, \infty)$, therefore from Lemma 1.2 for $\lambda_i = \frac{1}{n}$, $i = 1, \dots, n$

$$(3.4) \quad \sum_{i=1}^n \frac{f(x_i)}{n} - f\left(\frac{\sum_{i=1}^n x_i}{n}\right) \geq \frac{1}{n} \sum_{i=1}^n f\left(x_i - \frac{\sum_{i=1}^n x_i}{n}\right)$$

holds.

In other words for $y_i = x_i - a$, $i = 1, \dots, n$,

$$(3.5) \quad \frac{1}{n} \sum_{i=1}^n f(|y_i|) \leq d - f(a)$$

holds.

From $\sum_{i=1}^n y_i = 0$ we get that $|y_n| = |-\sum_{i=1}^{n-1} y_i|$. As f is positive, according to Lemma 1.3 it is convex and also increasing, and therefore

$$\begin{aligned} (3.6) \quad f(|y_n|) &= f\left(\left| -\sum_{i=1}^{n-1} y_i \right|\right) \leq f\left(\sum_{i=1}^{n-1} |y_i|\right) \\ &= f\left((n-1) \sum_{i=1}^{n-1} \frac{f^{-1}(f(|y_i|))}{n-1}\right) \\ &\leq f\left((n-1) f^{-1}\left(\frac{\sum_{i=1}^{n-1} f(|y_i|)}{n-1}\right)\right). \end{aligned}$$

Indeed, the left side inequality is because f is increasing and the right side inequality follows because f^{-1} is concave and f is increasing.

As f satisfies also $f(AB) \leq f(A)f(B)$ we get that

$$(3.7) \quad f\left((n-1) f^{-1}\left(\frac{\sum_{i=1}^{n-1} f(|y_i|)}{n-1}\right)\right) \leq \frac{f(n-1)}{n-1} \sum_{i=1}^{n-1} f(|y_i|)$$

and from (3.5), (3.6) and (3.7) we obtain

$$f(|y_n|) \leq \frac{f(n-1)}{n-1} \left(\sum_{i=1}^{n-1} f(|y_i|) - f(|y_n|) \right).$$

From the last inequality as $f(x)$ is positive and increasing, together with (3.5)

$$\frac{n-1+f(n-1)}{n-1} f(|y_n|) \leq \frac{f(n-1)}{n-1} \sum_{i=1}^n f(|y_i|) \leq \frac{f(n-1)}{n-1} n(d-f(a))$$

holds, which is equivalent to (3.2). ■

REFERENCES

- [1] S. ABRAMOVICH, G. JAMESON and G. SINNAMON, Refining Jensen's inequality, *Bull. Math. Soc. Sc. Math. Roumanie*, Tome **47**(95) No. 1-2, 2004, pp. 3-14.
- [2] S. BANIC, J. PEČARIĆ, and S. VAROŠANEC, Superquadratic functions and refinements of some classical inequalities, *J. Korean Math. Soc.*, **45** (2008) no. 2, pp. 513-525.
- [3] S. BANIC, Superquadratic functions, PhD. thesis 2007, (in Croatian).
- [4] W-S. CHEUNG, J. PEČARIĆ and D. ZHAO, On Bohr's inequalities, In: *Inequalities and applications*, TH. M. RASSIAS, ed., to appear.
- [5] W-S. CHEUNG and J. PEČARIĆ, Bohr's inequalities for Hilbert space operators, *Journal of Math. Anal. Appl.*, **323** (2006), pp. 403-412.
- [6] A. CIPU, An upper bound for the deviation from the mean value, *JIPAM*, **7**, Art. 126, 2006.
- [7] O. HIRZALLA, Non-commutative operator Bohr inequality, *J. Math. Anal. Appl.*, **282** (2003) pp. 578-583.
- [8] D. S. MITRINOVIĆ, J. E. PEČARIĆ and A. M. FINK, *Classical and New Inequalities in Analysis*, Kluwer Academic, Dordrecht, 1993.
- [9] J. E. PEČARIĆ and S. S. DRAGOMIR, A refinement of Jensen inequality and applications, *Studia Univ. Babeş-Bolyai Math.*, **34** (1989) pp. 15-19.
- [10] J. E. PEČARIĆ and TH. M. RASSIAS, Variations and generalizations of Bohr's inequality, *Journal of Math. Anal. and Appl.*, **174** (1993), pp. 138-146.
- [11] TH. M. RASSIAS, On generalization of a triangle-like inequality due to H. Bohr, *Abstracts Amer. Math. Soc.*, **5** (1985).
- [12] TH. M. RASSIAS, On characterizations of inner spaces and generalizations of the H. Bohr inequality, in: Th. M. Rassias, (Ed), *Topics in Mathematical Analysis*, World Scientific, Singapore, (1989).
- [13] P. M. VASIĆ and J. D. KEČKIĆ, Some inequalities for complex numbers, *Math. Balkanica*, **1** (1971), pp. 282-286.